% 1 3Z : Which One is More?
PR- RS 9
(Time Limit: 2 seconds)
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There are m classes in a school, and each class has n students, including boy and girl students. We arrange
all the students in the field where each class is in a row. Thus, there are m rows. Suppose that all girls are
arranged before any boys in each row. Please determine whether the school has more girls or boys according
to the input data. In the input data, we use 0 and 1 to represent girl and boy, respectively. If there are more
girls, please output 0; otherwise, the output is 1. Furthermore, if there is a tie, please output 2.
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The input consists of m+1 lines. The first line has two integers separated by a space, m (the number of

classes) and n (the number of students in a class), respectively. Then, in each of the following m lines
representing m class, some continuous 0’s come before 1°s, and each digit is separated by a space.
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The output contains one line for the result, 0, 1, or 2. Please add a newline character at the end of the
output.
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Sample Input: Sample Output:

48 0
00000111
00000011
00001111
00000001




¥ 2 3% : Find Largest Value and Smallest Value
FHE Ao ) hiE
(Time Limit: 2 seconds)
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Write a program to find the largest and smallest values from the input data.
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The input data contains 10 lines where each line has a number between -100 and 100.
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The output contains two lines: the first line is the largest value, and the second line is the smallest value. Please
add a newline character at the end of the output.
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Sample Input: Sample Output:

56 88
8 -78
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% 3 3 : Factorial Number
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Write a program to compute the factorial of any number N as follows:
NI'=1x2x3x.. . x(N—2)x(N—1)xN  (Note: 0! = 1)
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The input consists of M test cases. The first line of the input contains only one positive integer M,
followed by M test cases. Each case consists of exactly one line with one integer N, 0 <N < 12.
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For each case, output exactly one line which contains the corresponding factorial. Note that a newline
character should be added at the end of the output.
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Sample Input: Sample Output:
3 1
6

1
3 120
5




¥ 4 %% : Pokers
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There are many kinds of games for playing cards. Now you are participating in a showdown game. You
will get several cards and sort them according to their suits and values. Each card belongs to one of four suits,
i.e., Spade (S), Heart (H), Diamond (D) and Club (C), and the suit rank is S > H > D > C. If the suits of cards
are the same, then we compare their values. The cards of the same suit are ranked from highest to lowest
values, i.e. 13 (King) > 12 (Queen) > 11 (Jack) >10>9>8>7>6>5>4>3 > 2> 1 (Ace). Note that 1
(Ace) is the lowest one.
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The first line of the input contains an integer n (1 <n < 50) indicating the number of test cases. For each
test case, there is a line with several cards separated by spaces.
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Output the sorted playing cards of test cases. Each line shows the sorted playing cards of each test case, and
every two cards are separated by a space. A newline character should be added at the end of the output.
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4
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Sample Output:
S2 S1 H5 D4 C13

H5 D4 S2 C13 S1
D8 S3 D10 C12 H7
H6 S3
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S3H7 D10 D8 C12
S3 H6
S1D11C5




% 5 4% : Making Change
(Time Limit: 2 seconds)
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A store owner frequently encounters such a problem that a customer requests a less number of coins to
make the change. Let us help the store owner to solve this problem. Suppose that the owner has a variety of
valued coins and has an infinite supply of each valued coin. We need to find the minimum number of coins to
make the change. For example, we want to make the change for 5321 dollars, and the valued coins the
customer expects are 1000, 200, 20, and 1. The store owner makes such a change of 1000*5+200*1+20*6+1*1,
which involves 13 coins.
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The first input line contains a number which indicates the number of test cases. The test data start from
the second line. Each line of the test data includes several numbers of which two numbers are separated by a
space. Among them, the last number (1~100000) is the value of making the change, and the remaining

numbers are valued coins (each having a value between 1 and 100000) in descending order. The last valued
coin must be 1.
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For each test case, show the minimum number of coins to make the change in the first line; and in the

following lines, show each valued coin in descending order and the corresponding number of coins. Use a
space to separate these two numbers. Please add a newline character at the end of the output.
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Sample Input:

Sample Output:

2
1000 600 11 2 1 98654
600 22 3 1 54321

108
1000 98
600 1
114
25
10
109
600 90
2214
34

11




% 6 4% : Parking Fee
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(Time Limit: 2 seconds)
Problem Description F® 4g 4y it
Assume that the rate for a parking lot is calculated in units of half an hour, and there is no charge for
less than half an hour. Parking within 2 hours, 30 dollars per half hour; more than 2 hours, but less than 4
hours, 40 dollars per half hour; more than 4 hours, 60 dollars per half hour. Please write a program to calculate
the total parking fee to be paid.
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Input #& » 3P

The first line is a positive integer N, which means that there are a total of N test cases (1 <N < 100).
Each test case contains two lines of time: starting time and leaving time (24-hour clock). Each line contains
two integers, representing the hours and minutes. Starting time and leaving time are limited to the same day.
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Output ﬁ] AP
Output the parking fee. Note that a newline character should be added at the end of the output.
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Sample Input: Sample Output:
2 340

10 23 30

1520

1330

14 20




